


Pedestrian Collisions and Injuries
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Pedestrian crashes continue.
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onth analysis has a blind spot.

While approximately 2,400 City of San Diego intersections
experienced at least one pedestrian collision between 2001 and
2015, pedestrian collisions, injuries, and fatalities were clustered
at relatively few high-collision intersections. Infrastructure
improvements to increase pedestrian safety are most needed at
these intersections.

1,883 Intersections had 1or2 302 Intersectionshad 3or4 141 Intersections had 5to 7 Only 73 Intersections had 8+
Ped Collisions Ped Collisions Ped Collisions Ped Collisions
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About 5 pedestrian crashes/year.
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About 1 pedestrian crash/2 yrs.




What’s in it for them?
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What’s in it for them?




Thank you Circulate SD & KTU+A




Will a roundabout even fit?

JU AR

®
Tl e



Prove that removing one lane works.
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Prove that removing one lane works.
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Prove that trucks and buses f|t
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Prove that trucks and buses fit.

Y NO COMES

CURVE TABLE (LT ABOVE X AXIS, RT BELOW X AXIS)
START MID END CENTER POINT
CURVE|RADIUS| X, ¥ (IN FT) X ¥ (INFT) X, ¥ (IN FT) X Y (INFT)

1 | e85 | 0.00,1457RT | 38.66,17.12RT | 73.34, 34.38RT | 12.98 112.21RT

2 435 | 73.34, 34.38RT | 99.37,43.50RT | 125.64, 35.14 RT| 10000, 0.00

3 405 |125.64, 35.14RT[130.12, 32.30RT| 134.04, 30.07 RT| 149.52, 67.85RT

4 232 |134.94, 30.07 RT| 166.94, 20.30 RT| 200.00, 15.25 RT| 218.40, 246.26 RT

5 500 | 0.00,145RT | 6.63,0.76RT | 13.26,0.00 | -48.61, 496.18LT

6 20 13.26,0.00 | 2168 0.67LT | 30.12,0.53LT | 24.39,89.39RT

7 93 | 3012 05307 | 427407817 | 5527, 068RT | 3826 92.12RT

8 45 | se.97, 12507 | 56.18,3.96LT | 5557, 67107 | 99.77,15.16LT

9 350 | 5218 91117 | 4092 7.620T | 2961 650LT | 0.65,355.30LT

10 | 350 | 296165007 | 148444207 | 00029817 | -26.43 3518817

11 | 3375 | 000161107 | 22.04,19.0207 | 43.83, 23,3717 | -33.12, 3519817

12 | 1505 | 43.83,23.3717 | 51.83,25.4817 | 59.71, 280217 | 952, 160.91 LT

13 | 405 [5971,280217 | 78.92,42.3417 | 86.68, 75.00LT | 46.20,66.20LT

14 85 | 96.93 447217 | 97.62,49.60LT | 98.01 545017 | 13.13 58.94LT 0.00,0.00
15 3 | 9801, 545017 [100.89,57.35L7[ 103.98, 54.75 17| 10101, 5435LT

16 180 | 103.98, 54.75L7|104.74, 49.66 LT| 105.64, 44.59LT| 282.39, 78.67LT X

43 | 98.47,42.97 17 [101.25 42.98 LT| 104.03, 42.81 17| 100.00, 0.00
167.5 | 114.78, 65.001T [ 116,60, 57.02 LT| 118.82, 40.13 7| 278.92 9837LT
355 |118.82 49.131T|124.76, 37.73 LT[ 134.38, 29.19LT| 152.75, 59.57 LT
105.5 | 134.38, 29.1907 [ 186.01, 16.52 LT| 200.00, 14.60 LT | 188.90, 119.51 LT
450 | 200.00, 1.53 LT [ 193.70, 0.83 LT | 187.41, 0.05LT | 246.33, 446.08 RT
187.41, 0.05 LT | 178.67, 0.68 RT | 160.91, 0.55 RT | 175.63, 89.27 LT
93 | 169.91, 0.55RT | 157.25, 0.78RT | 14473, 069 LT | 181.85 92.10LT
45 | 143.03, 1.24RT | 143.81, 3.95RT | 144.43 6.70RT | 100.22, 15.11RT
350 | 147.81, 9.11RT | 159.05, 7.63 RT | 170.33, 6,52 RT | 198.94, 355.35 RT
350 | 170.33, 6.52RT | 185.13, 245 RT | 200,00, 3.01 RT | 226.34, 352.01 RT
24 CENTER = 100.00, 0.00
7 CENTER = 100.00, 0.00
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Prove that trucks and buses fit.
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Prove that speeds are slow.




Our partners:




What else are we doing?
 Marked Uncontrolled Crosswalk Policy update
e High visibility crosswalks
e Rectangular rapid flashing beacons
e Pedestrian hybrid beacons (HAWKSs)

e Leading pedestrian intervals
e Flashing yellow arrows for right turns

e Systemic safety program, with Caltrans help




